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Tusunsuauineauna
#include "stm32f10x_lib.h"
#include "RCC_setup.h"
#include "NVIC setup.h"
#include "GPIO_setup.h"
#include "UART.h"
#include "ADC.h"

#include "PWM.h"
#include "Timer.h"
#include "FuzzyPID.h"
#include "RCServo.h"
#include "Ultrasonics.h"
#include "12C_HMC6352.h"
#include <stdio.h>

#include <stdlib.h>

// dillausi3dmsunesa STM32
// dillauss RCC

// iallausis NVIC

// fillausid GPIO

// dillausn3 UART

// dillausn3 ADC

// viwlausn3 UART

// iiwlausns Timer

// illauss FuzzyPID

// diallausi3 RC Servo

// villaus13 Ultrasonics

// ilausn3 12C_ HMC6352 h
// dillausn3 stdio n

// dillauss stdlib

// Anvuaeewlsdmsunsigaunall

volatile unsigned int ms = 0;

volatile int n = 0;

volatile int setpointX = 1556;
volatile int setpointY = 1870;

bool flag = 0;

// ANRUAAIAILUSEINSUBIUAIIINADUNDSH

char Rx1_Read,;

// Mandulunisuanidntoyanisnaunain

void PrintData(void){
if(flag ==0)
{

printf("@D,%. 1f,%d,%d,%d,E\r\n",Compass

,ultrasonicLeft(ADC_RegularConvertedValueTab[0])
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,ultrasonicFront(ADC_RegularConvertedValueTab[1])

,ultrasonicRight(ADC_RegularConvertedValueTab[2]));
}
if(flag ==1)
{
printf("$P,%.2f,%.2f,%.2f,%.2f,%.2f,%1.3f,%1.3f,%1.3f,%1.3f,%1.3f,%1.3f,E\n"

PID_1,PID_2,roll,pitch,Yaw,KP_1,KI 1,KD 1,KP 2Kl 2,KD 2);
}
}
/7 Hardudumessnivadlnaes 1
void TIM1_UP_IRQHandler(void)
{
iflms>=2)  // dwanemng 2 Jadiun
{
ms=0;
PID(setpointX,setpointY);
}
Ms++;
// wdpsadndumessnilnmes 1
TIM_ClearTPendingBit(TIM1,TIM IT_Update);
}
// Hefdudumesswivedlviwes 2
void TIM2_IRQHandler(void)
{
// wansendeyanng 50 dadiuni
if(n>=>5)
{



PrintData();
}

n++;
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// wagsAUndumassniinues 2

TIM_ClearlTPendingBit(TIM2,TIM_IT_Update);

}
// Hardundnaeaslusunsy
int main()

{

RCC_setup();

NVIC setup();
GPIO_setup();
RCMotor_setup();

USART1 setup(115200);
USART2_setup(115200);
ADC_setup();
//12C_setup();
TIMER_setup();
TIM_Cmd(TIM1, DISABLE);
TIM_Cmd(TIM2, DISABLE);

// fviuailanduues RCC

// fvuaileiduras NVIC

// fuailedduves GPIO

// fviuailanduues RC Motor

// fuailefduves USARTL
// Suailefdures USARTL sy IMU wwiwes
// fvuailaddures ADC
// fvuailaddunes 12C dmsuduiindidnnsedind
// fuailefduves TIMER
// Yanmslonuduwmessnilnmes 1

// UANSI T UBURBS SN LS 2

printf("Hello ARM Cortex-M3\r\n"); // u@nataa11u Hello ARM Cortex-M3

RC_Motor_Set(1556,1870);

// Avuaesudulinuestwesiuewmes

// AMRUAASUAULANTUALNSI DR

KP_1=0.2;

KI 1=15.2;
KD 1=0.01;
KP 2=0.1;
KI_2=25.0;
KD 2=0.002;
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while(1) // yugulaifau
{
Rx1 Read=usartl getc();
switch(Rx1_Read)
{
case 't"
TIM_Cmd(TIM1, DISABLE);
TIM_Cmd(TIM2, DISABLE);
RC_Motor_Set(1556,1870);
break;
case 'g"
TIM_Cmd(TIM1, DISABLE);
TIM_Cmd(TIM2, DISABLE);
RC_Motor Set(1556,1870);
KP 1 =usartl Gain();
Kl 1 =usartl_Gain();
KD_1 =usartl_Gain();
KP_2 =usartl Gain();
Kl 2 =usartl_Gain();
KD_2 =usartl_Gain();
setpointX =usartl getnum();
setpointY =usartl getnum();
printf("kp_1:91.3f ki_1:9%1.3f kd_1:91.3f kp_2:%1.3f
ki 2:9%1.3fkd 2:9%1.3A\r\n"
KP_1KI 1,KD 1KP_2,KI 2KD 2);
TIM_Cmd(TIM1, ENABLE);
TIM_Cmd(TIM2, ENABLE);
break;
case 's"

KP 1=0.2;
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Kl 1=15.2;
KD 1=0.01;
KP 2=0.1;
Kl 2=25.0;
KD 2=0.002;
setpointX = 1556;
setpointY = 1870;
TIM_Cmd(TIM1, ENABLE);
TIM_Cmd(TIM2, ENABLE);
break;

case 'l:
TIM_Cmd(TIM2, DISABLE);
RC_Motor_Set(1556,1870);
Rx1 Read=usartl getc();
if(Rx1_Read =='0') { flag = 0;}
if(Rx1_Read =='7') { flag = 1;}
TIM_Cmd(TIM2, ENABLE);
break;

}
//return 0;



TUsunsudusanasvuaud
#include "stm32f10x_lib.h"
#include "RCC_setup.h"
#include "NVIC setup.h"
#include "GPIO_setup.h"
#include "Systick.n"
#include "UART.h"
#include "PWM.h"
#include "Timer.h"
#include "ADC.h"

#include "DCMotor.h"
#include "Currentsensor.h"
#include "Battery.h"
#include "PIDs.h"

#include <stdio.h>

#include <stdlib.h>
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// finllausidmsunesa STM32
// disilausn3 RCC_setup

// inllaus13 NVIC_ setup

// \disilausn3 GPIO_setup
// iallausis Systick

// fillausn3 UART

// dillausn3 PWM

// dillausn3 Timer

// illaus3 ADC

// disllaus3 DC Motor

// iallausi3 Current sensor
// illauss Battery
// dilausn3 PID
// fillausTs stdio

// diallausns stdlib

// fmuAAIFILUSENSUNOLN D TR
volatile unsigned int time_ms = 0;
volatile unsigned int time = 0;
volatile float Pulsel = 0.0;

volatile float Pulse 1 = 0.0;

volatile double Position1 = 0.0;
volatile float RPM_M1 = 0.0;

volatile float Feedback 1 = 0;
volatile int RPM_Setpointl = 0;

// MuupAIFLUsEUsULBLR AU Y
volatile float Pulse2 = 0.0;

volatile float Pulse 2 = 0.0;

volatile double Position2 = 0.0;

volatile float RPM_M2 = 0.0;



volatile float Feedback 2 = 0;
volatile int RPM_Setpoint2 = 0;
char Rx1 Read = 0;

// frusAwlsansulanduilen

float Kp 1 = 0;
float Ki 1 = 0;
float Kd 1 =0;
float Kp 2 = 0;
float Ki_ 2 = 0;
float Kd 2 = 0;

// fafduntsmingaan
void delay(unsigned long ms)
{
volatile unsigned long ij;
for(i=0;i<ms;i++)
for (j = 0; j < 5525; j++ );
}
// Wﬂﬁ%’Uﬂ1iLLa@Qﬁﬂ%’@%aﬁ\huV}NﬂaMW@%ﬁ
void PrintData(void)
{
printf("$D,%.1f,%.1f,%.1f,%.1f,%. 1f,%. 1f,E\r\n"
,Position1,Feedback 1,Position2,Feedback 2
,GetCurrentM1(ADC_RegularConvertedValueTab[4])
,GetCurrentM2(ADC_RegularConvertedValueTab[5]));
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// flafunsuansindeyauunines
void PrintBattery(void)
{
int i
for(i = 0;i<10;i++)
{
printf("@T,%. 1f,%.1f,%.1f,%. 1f,E\r\n"
,Read Battery1(ADC RegularConvertedValueTabl[0])

,Read Battery2(ADC RegularConvertedValueTab[1])
,Read Battery3(ADC RegularConvertedValueTab[2])

,Read Batteryd(ADC_RegularConvertedValueTab[3]));

}
// Haidudumesnivadlnaes 1
void TIM1_UP_IRQHandler(void)  // dwamAmng 1 fadiund
{
Pulsel = TIM GetCounter(TIM2)-32768;
TIM_SetCounter(TIM2,32768);
Positionl += Pulsel;
if(Pulsel < 0)
{
RPM_M1 = RPM_M1 +(-1*Pulsel),
}
else
RPM_ M1 += Pulsel;

Pulse 1 = Pulsel;
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Pulse2 = TIM_ GetCounter(TIM3)-32768;
TIM_SetCounter(TIM3,32768);
Position2 += Pulse2;
if(Pulse2 < 0)
{
RPM_M2 = RPM_M2 +(-1*Pulse2);

}
else
RPM M2 += Pulse2;
Pulse 2 = Pulse2;

if(ttime_ms>=10)

{
time_ms = 0;
// AUIUAITIURDUNTIUDINDIADIAULIY
RPM_M1 = RPM_M1/1600; // wsanradiduldnmesiielild 1 fad
RPM_M1 =(RPM_M1*6000);
Feedback 1 = RPM_MI;
RPM_M1 =0;
// FUIUAITOURDUNTIVDINOLADTAIUTI
RPM_M2 = RPM_M2/1600; // wsaadiduldnnesiielild 1 fad
RPM_M2 =(RPM_M2*6000);
if(RPM_M1 < 0 }-RPM_M1;}
Feedback 2 = RPM_M2;
RPM_M2 =0;
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// Genldauilsialed
PID(RPM_Setpoint1,RPM_Setpoint2,Feedback 1,Feedback 2);
time_ms++;
TIM_ClearlTPendingBit(TIM1,TIM [T _Update);
}
// wagsAmtoyaidulanines
void ClearEncoder()
{
Pulsel1=0;
Pulse2=0;
Position1=0;
Position2=0;
}
// Haidusienaniendien
void Watchdoglnit(void)
{
if (RCC->CSR & (1<<29)) {
RCC->CSR |= (1<<24);
printf("\r\n Clera WatchDog \n");

}
void WatchDogRefresh(void)

{
IWDG->KR = OXAAAA; // SlanAiandmon
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// Hefdudadudnlnues

void SysTickHandler(void)

{
// wansftaaeannemaUNesH
PrintData();
// \wagsAnendnen
WatchDogRefresh();

}
// WansunanvalusHknsy

int main()

{
RCC_setup(); // fvusileidumes RCC
NVIC_setup(); // fviueilaidumas NVIC
GPIO_setup(); // fviuailaiduves GPIO
DCMotor_setup(); // fviuailaridumes DC Motor
USART1 setup(115200); // fvuailaidures USART
TIMER_setup(); // fvuaitaridures TIMER
ADC_setup(); // fvuailaiduves ADC
Encoder_setup(); // fviuailaidures Encoder

TIM_SetCounter(TIM2,32768); // fvuaileiduvednues 2
TIM_SetCounter(TIM3,32768); // fnvuailsiduvasdines 3

TIM_Cmd(TIM1, DISABLE); // Uansldanuduwmassnilnmes 1
ClearEncoder(); // wagsadayaidulAnnes
SYSTICK setup(); // svupiliiduvesdadiuinlnes
Watchdoglnit(); // Smupilastuvesendsieon

// WAAIAUDAINNDDNVIIADUND A

printf("\r\n Hello STM32 DC Motor Down \n")
SysTick CounterCmd(SysTick Counter Disable);
SetGain(0.1,2.0,0.001,0.1,2.0,0.001);

SysTick CounterCmd(SysTick_Counter_Enable);
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while(1) /7 qugulifau
{
Rx1 Read = usartl getc();
switch (Rx1_Read)
{
case 'g"
TIM_Cmd(TIM1, DISABLE ),
RPM_Setpointl =usartl getnum();
RPM_Setpoint2 =usartl getnum();
if(RPM_Setpoint1>150{RPM_Setpointl =0;}
if(RPM_Setpoint2>150{RPM_Setpoint2 =0;}
// wait for close loop control
delay(2000);
Setmotor_Go(RPM_Setpoint1,RPM_Setpoint2);
TIM_Cmd(TIM1, ENABLE);
break;
case 'b"
TIM_Cmd(TIM1, DISABLE )
RPM_Setpointl =usartl_getnum();
RPM_Setpoint2 =usartl_getnum();
if(RPM_Setpoint1>150){RPM_Setpoint1 =0;}
if(RPM_Setpoint2>150){RPM_Setpoint2 =0;}
Setmotor Back(RPM_Setpoint1,RPM_Setpoint2);
TIM_Cmd(TIM1, ENABLE);

break;

case T
TIM_Cmd(TIM1, DISABLE );
RPM_Setpointl =usartl getnum();
RPM_Setpoint2 =usartl getnum();
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if(RPM_Setpoint1>150){RPM_Setpointl =0;}
if(RPM_Setpoint2>150{RPM_Setpoint2 =0;}
Setmotor Right(RPM Setpoint1,RPM_Setpoint2);
Pulsel =0;
Pulse2 =0;
TIM_Cmd(TIM1, ENABLE);
break;

case 'l
TIM_Cmd(TIM1, DISABLE )
RPM_Setpointl =usartl getnum();
RPM_Setpoint2 =usartl getnum();
if(RPM_Setpoint1>150){RPM_Setpoint1 =0;}
if(RPM_Setpoint2>150){RPM_Setpoint2 =0;}
Setmotor_Left(RPM_Setpoint1,RPM_Setpoint2);
Pulsel =0;
Pulse2 =0;
TIM_Cmd(TIM1, ENABLE);
break;

case 't"
TIM_Cmd(TIM1, DISABLE )
RPM_Setpointl = 0;
RPM_Setpoint2 = 0;
Setmotor Stop(0,0);
TIM_Cmd(TIM1, ENABLE);
break;

case 'd"
TIM_Cmd(TIM1, DISABLE);
SysTick CounterCmd(SysTick Counter Disable);



